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SOURCE 7: Telegram from Winston Churchill to President Roosevelt, 12 April 1944 (extract) (CHAR 20/161/113-114)

On a scale of 1-5 how far do you agree
that this source supports this
inference?

Which extract(s) from the source support your argument?

Churchill is now fully
committed to ‘Overlord’.

Churchill has no
reservations whatsoever
about the success of
‘Overlord’.

Everyone else expects the
success of ‘Overlord’.

Churchill now only has a
peripheral role in
‘Overlord’.
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The US is the driving
force behind ‘Overlord’.




